
Care Pathway: ________________________________________________________________

Monthly / Quarterly 

Date: _________________________________ Number of Patients (N): : _____________

User’s Key:

# Met: Number of patients who met the outcome; % Met: Percentage of patients who met the outcome.

# Not Met: Number of patients who did not meet the outcome; % Not Met: Percentage of patients who did not meet
the outcome.

# Appl: Total number of patients for whom the outcome applies; (# Met + the # Not Met).

# NA: Total number of patients for whom the outcome is not applicable; % NA: Percent of patient group for whom the
outcome is not applicable.

Total N= Total number of patients in the group.

Outcome Indicators # Not / # Appl = % Not
(Abbreviate by subject matter) # Met / # Appl = % Met Met Met # NA / Total N = % NA
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